EARAROBREBRT —5 XN—ZXBISH—F 20224628288 (A) 260REE1H

L C 2 04 YSHR—# B
[x&%] 17&:320,000 @  23#&:102,000 @  3#&:58,000MH . 43%&:38,000M”  53&:26,000H
IR RESS /M 3 BF (FB) |94L (EFD | BBIEM | b3F [SiER | AR | #8 | B8 R / B / £E%S
~ )= 4 4 | A9EShiE 1:34.5 1-1-1-1 [ 42.9] - 4 473 | RORE (BEE)
11719|74>2Y1= 54.0 =) 1) XBR—
RIN=YISA B:AYR—RTUAR DS
—_— o~ Lo = KIEFHEE 134, = . - SEfEe (BEE)
2 g | =mRrEOSTU— e é%% R ! g IRE A
R:ZhvEOPI7—R B:ZhRVEOISU— REBUS
3 = 4 | L 1:34.7 7-7-7-4 | 40.5| - 5 404 |BTIE-5 (BEE)
35/ | 7O—T 47 e 540 0 1) il —
RRwIA=FILYIT F:XI9—FvR b+ IH B
g —n P HEFREE : -5-4- - REEX (BEHE)
48|12 SLFA7FR ' 4 ik 1.(36.9 5-5-4-3 | 42.2 6 (4+316) %ﬁﬁg
R:ZAJU—ve—O— B:HThoIVFa /=YY T7—L
. FHJseiE :36. -4-5- . - WREBEX (BHE)
slgl11| 7—ILEZRZILD i o4 e 1(366)1 3-4-5-5 | 43.3 7 21_73 g
R:F4—=FTUSVF B:I—-byFUA HHE EE
7 4 g | MEEEC 1:37.1 9-8-8-7 |42.4| — 10 | 490 |HFLE— @REE)
6101 1O=FFAk 56.0 ©) (g |ROE=
RiFVIANZL B9 RF7 RUAR S—U—- Vv XY - T7—LERE
— e S . 66 _ B
7 2 ILIZITSVR 4 4 543.‘:857( 1.(337).8 6-6-6-6 | 43.8 8 (4_039) %;E_A (BEE)
RNNVTSY B eSRIFUVER Bt BE
= = i DOREFAE 3 -10-9- - FPEEC (BEE)
sEY3 | TUVTARSvH— LRI A S R ’ ?_942) @) "—RT7
RiA—=V v T)— B:RRS—L RS
B vy 4 | B 1:41.6 4-3-3-8 | 49.1| - 2 516 | BBt (BEHE)
9 7| 74—3—tX 56.0 (941) (1) | LD
RiFAITAIv— B:EITVIAEVR (\) #HB81—-RU—yavBEEI7
S 4 5 | BRE— 1:43.1 8-9-10-10 | 46.5| — 3 483 | ABET (BEE)
10[7 10| Y A=NY— 56.0 @) 5 | #® Zr—ZbEvav
RYUZRY4 ISR B:UI—DAR Ud—J7—A
Sh—p— — o ALLE— - - - - - - |ROXX (BEE)
Wl 4| NTITSTP—R IR (BE) ) MBS
RIRITIATAwIDFUT— B XAY3avvviRy et
I - - - - - - | ROXX (BEE)
«x| 5| 5| F—RDOYF— R %) (BGH) =) B
Rih—ROVPvAL B:h—RIPASVR e A
@ 1—F—&BIEL
13—7+— 9,8,11,7,12,2,6,10,1,3
20—7F— 9,8,7,11,12,2,6,1,10,3
30—7— 9,8,7,12,11,2,6,1,3,10
43—F— 9,8,12,6,11,2,1,7,3,10
o ILRE
B B 9 1,490 AR 8-9 320 % 3= 6-7 280M4 3EE 6-8-9 2,070M
7B B 9 210 6-9 1,380 Fs E 8-9 6504 3EH 9-8-6 18,710
8 100/ 6-8 420M4 Ba 9-8 1,860
6 220

ABIC OV TRUTEREERRODDZE. THRIIZEL.




